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AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= 0.664 X  0.300
m3 0. 199
HERET A+ v= (0.514 X  0.300
- 7 /4 X 0.11472) X 1.000 m3 0.144
HWET V= X m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b v= (0.199 -  0.144) m3 0. 055
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
AR
SIEEIEIH T As t=5cm m2 0. 300




+ T& S ©) IRE% BT3E h=0. 30m
SUS 100A
. NEED = 0.114 (m)
QHT & As
H=0. 30m PEHIE W = 0.300 (m)
Sk +Hkn = 0.300 (m)
- kA=) B ' m
BEBHEA HitEE = 0.050 (m)
| JEHIE h = 0.414 (m)
E / /fi\\ MebmE =
BANE
= HERE B AT - 0.364 (m)
- & )\jﬂEﬁ” (RM-30)
= § | _—_— BRI () = 0.150 (m)
_ ! — = (ax) =
| »AE+ = 0.214 (m)
AEIHE = 0.050 (m)
T Fi s - etk | HE K BT &
LU T As t=20cmPA F | L= 1.000 X 2 m 2. 000
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= 0.364 X  0.300
m3 0. 109
HERET A+ v= (0.214 X  0.300
- 7 /4 X 0.11472) X 1.000 m3 0. 054
HWET V= X m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b V=" (0.109 -  0.054) m3 0. 055
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
A I
SIEEIEIH T As t=5cm m2 0. 300




+ T& S @ I E% HT3E h=0. 60m

SUS 50A
@HT & As AR D = 0.060 (m)
H=0. 60m
(SUS 50A) mEE W = 0.300 (m)
300 18
BETHIEAs +#% v = 0.600 (m)
\ HEEE = 0. 050 (m)
e LIS, 5 PRHIE (m)
i BIE h = 0.660 (m
ERIE - A
L
| == MebmE =
< | SR = 0.610 (n)
2 o S AHiEE
3 Py PRI () = 0.150 (m)
. [
| < () -
D Q& »AE+ = 0. 460 (m)
| PEHE = 0. 050 (m)
T & s - etk | HE K BT &
LU T As t=20cmPA F | L= 1.000 X 2 m 2. 000
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T + b V= X m3
PNVAE =[S +wh V= 0.61 X 0.300
m3 0. 183
R T A+ v= (0.460 X  0.300
- 7 /4 X 0.06072) X 1.000 m3 0.135
HWET V= X m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b v= (0.183 -  0.135) m3 0. 048
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
. P KL
SIEEIEIH T As t=5cm m2 0. 300




+ T& S ® I E% BT3E h=0. 30m
SUS 50A
D = 0.060 (m)
GHT & As
HitE W = 0. 300
T PR HEIE (m)
(SUS 50A) THy = 0.300 (m)
300 g8
A HEAs shEEE = 0. 050 (m)
| PHIE h = 0.360 (m)
3 VAN 2, Hebidmel =
S |%%§%% g NT1HEHEl = 0.310 (m)
of 7 AN ARG (B = 0.150 (n)
= ;
£ +
) = 2 o) -
I
| H*AEL = 0.160 (m)
AEIHE = 0.050 (m)
T Fi s - etk | HE K BT &
LU T As t=20cmPA F | L= 1.000 X 2 m 2. 000
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= 0.31 X 0.300
m3 0. 093
R T A+ v= (0.160 X  0.300
- 7 /4 X 0.06072) X 1.000 m3 0. 045
HWET V= X m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b V=" (0.093 -  0.045) m3 0. 048
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
AR
SIEEIEIH T As t=5cm m2 0. 300




+ &5 ® % (koK) BT 3EAs h=0. 30m
PP ¢ 2504 F
D = 0.032 (m)
© (#a7K) BT 38 As WGV = 0.300 ()
H=0. 30m
(PP® 25LLF) +Htn = 0.300 (m)
{RiE18
300 — shEEE = 0. 050
BAEBHIEAs L )
PHIE h = 0.332 (m)
|
ShRIEE =
B VAN 3 BB
W NT1HEHEl = 0.282 (m)
J | BE s
= RM-30 — SR PN
by % = A | BRI A () 0. 150 (m)
' (B =
4+ &
4 |L T%L
»AEL = 0.132 (m)
AEIHE = 0.050 (m)
T Fi s - etk | HE K BT &
LU T As t=20cmPA F | L= 1.000 X 2 m 2. 000
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= 0.282 X 0.300
m3 0. 085
R T A+ v= (0.132 X  0.300
- 7 /4 X 0.03272) X 1.000 m3 0. 039
HWET V= X m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b v=" (0.085 -  0.039) m3 0. 046
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
AR
SIEEIEIH T As t=5cm m2 0. 300




+ &5 @ IRER L BT7E h=0. 30m
SUS 150A
. NEED = 0.165 (m)
BHET & As
H=0. 30m PEHIE W = 0.300 (m)
(SUS 150A)
R +Hkn = 0.300 (m)
300 e
BEBHEA iR = 0.050 (m)
\ WEIE h = 0.465 (m)
[=) ‘ o
= NN = HeRimll -
BLRE o
g i 2 ABHEH = 0.415 ()
g o A AR () = 0.150 (m)
pars £ +
- ! A (B =
| g
=
|
| »AE+ = 0.265 (m)
P RE = 0. 050 (m)
T Fi s - etk | HE K BT &
Al T As t=20cmPl F | L= X m
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= (0.415 X  0.300
- 7 /4 X 0.16572) X 1.000 m3 0.103
HERET FAE+ V= 0.265 X 0.300
m3 0. 080
HWET V= X m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b v=" (0.103 -  0.080) m3 0. 024
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
A I
SIEEIEIH T As t=5cm m2 0. 300




+ &5 IRER L BT1E h=0. 60m
SUS 100A
HEOHRT & As AR D = 0.114 (m)
H=0. 60m
(SUS 100A) WEENE W = 0.300 (m)
400 1R1EI8
BEEHEAs +Hkn = 0.600 (m)
| aEAEE = 0.050 (m)
= N
’;ﬁ&*ﬁg & AR h = 0.714 (m)
| Hebidmel =
= | NT1HEHEl = 0.664 (m)
= =3 ANHiEH
N2 |% % + HARGA () = 0.150 (m)
‘ <
b (ax) =
I 0.100 (m)
| =3
C = »AEL = 0.414 (m)
| AEIHE = 0.050 (m)
T Fi s - etk | HE K BT &
EAEEIWT T As t=20cmPA F | L= X m
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= (0.664 X  0.300
- 7 /4 X 0.11472) X 1.000 m3 0. 189
HET FAE+ V= 0.414 X 0.300
m3 0.124
HET V= X 0.100 m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
s T b v= (0.189 -  0.124) m3 0. 065
TERAET m2
AR
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
AR
SIEEIEIH T As t=5cm m2 0. 300




+ &5 ©) IRER L BT7E h=0. 30m
SUS 100A
?ﬁ@ - NED = 0.114 (m)
BT 18 As
H=0_ 30m PEHEIE W = 0.300 (m)
(SUS 100A) Ty - 0.300 (m)
300 {REI18
BEBHEAs AR = 0.050 (m)
{ PHIE h = 0.414 (m)
= VAN Hebkmml =
‘:ﬁi*ﬂ*ﬁ o "
= ERERA rs ANDHEHD = 0.364 (m)
= & *iﬁﬁﬁﬂ‘ (RM-30)
b=x % : AR (R = 0.150 (m)
58 ‘% £ +
B : — = () =
C 77
‘ »EL = 0.214 (m)
REIHE = 0. 050 (m)
T Fi s - etk | HE K BT &
Al T As t=20cmPl F | L= X m
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= (0.364 X  0.300
- 7 /4 X 0.11472) X 1.000 m3 0. 099
HERET FAE+ V= 0.214 X 0.300
m3 0. 064
HWET V= X m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b V=" (0.099 -  0.064) m3 0. 035
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
A I
SIEEIEIH T As t=5cm m2 0. 300




+ &5 IRER L BT1E h=0. 60m
SUS 50A
HA0RT & As D = 0.060 (m)
H=0. 60m
(SUS 50A) PEHIE W = 0.300 (m)
200 IR
BEFHEAS Ty = 0.600 (m)
| AAEE = 0.050 (m)
3 /’\ 3
Y PEEIE h = 0.660 (m)
| HeldmE =
= ‘ NT1HEHEl = 0.610 (m)
g o % AN{EH]
= Py BAKIRG () - 0.150 (m)
i [
| i ) =
‘ 0.100 (m)
G a »AEL = 0.360 (m)
AEIHE = 0.050 (m)
T Fi s - etk | HE K BT &
EAEEIWT T As t=20cmPA F | L= X m
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= (0.610 X  0.300
- 7 /4 X 0.06072) X 1.000 m3 0. 180
HERET FAE+ V= 0. 36 X 0.300
m3 0.108
HET V= X 0.100 m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b v=" (0.180 -  0.108) m3 0. 072
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
AR
SIEEIEIH T As t=5cm m2 0. 300




+ &5 @) IRER L BT7E h=0. 30m
SUS 50A
. D = 0.060 (m)
HADET & As o
H:O. 30"1 }EEM]EB W = 0. 300 (m)
(SUS 50A) Ty = 0.300 (m)
300 {RiEI8
BERHEAs MR = 0.050 (m)
| PHIE h = 0.360 (m)
2 AN 3 Hebidmel =
= %%ﬁ%’;% 3 S = 0.310 ()
@ A B EHI i
2 \ HARGE () = 0.150 (m)
‘% e il o
R Q o (B =
[
| AEL = 0.160 (m)
AEIHE = 0.050 (m)
T Fi s - etk | HE K BT &
Al T As t=20cmPl F | L= X m
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= (0.310 X  0.300
- 7 /4 X 0.06072) X 1.000 m3 0. 090
HERET FAE+ V= 0.16 X 0.300
m3 0. 048
HWET V= X m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b V=" (0.090 -  0.048) m3 0. 042
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
A I
SIEEIEIH T As t=5cm m2 0. 300




+ &5 12 IRER L (ka7K) BT 3EAs h=0. 30m
PP ¢ 2504 F
AED = 0.032 (m)
80D ($57K) BT 38 As WENE Y - 0.300
H=0. 30m
(PP 25LLTF) +Hkn = 0.300 (m)
RiEI8 .
— AR = 0. 050
300 BAETHEAs =" (m)
PHIE h = 0.332 (m)
| X
R =
3 VNN 2
| mamE - Al = 0.282 (m)
o = _(ﬁ%%%;)ﬁ = S o
3 % & MﬂEﬁu! ARG () = 0.150 (m)
| (B =
% £ + &
Ll ey
| »AEL = 0.132 (m)
RABIRE = 0.050 (m)
T Fi s - etk | HE K BT &
Al T As t=20cmPl F | L= X m
AT HIFRA T As t=5cm A= 1.000 X  0.300 m?2 0. 300
BRI T +-b V= X m3
PNVAE =[S +-#b V= (0.282 X  0.300
- 7 /4 X 0.03272) X 1.000 m3 0. 084
HERET FAE+ V= 0.132 X 0.300
m3 0. 040
HWET V= X m3
Asp” 7Ly T As t=15cmAd [ V= 0.300 X 0.05 m3 0.015
A5 T b V= (0.084 -  0.040) m3 0. 044
TERAET m2
ARG
BT t=15cm V=" 1.000 X 0.300 m2 0. 300
A I
SIEEIEIH T As t=5cm m2 0. 300




+ &5 A % BT As h=0. 60m
WK ¢ 150X ¢ 150
_ABT 38 As S D = 0.165 (m)
H=0. 60m
(TBf7K ¢ 150 % ¢ 150) I
1000 {z@8 ﬂ-auﬁljrl]&'l W = 1. 000 (m)
BEFHEAs
+Hkn = 0.600 (m)
< HEEE = 0.050 (m)
- PEEIE h = 1.065 (m)
g g
& T 0.450 (m)
BRI
S = NTTH = 0.565 (m)
= PRI TR () = 0.150 (m)
et AHiEHI =t (&) _
” WAL = 0.300 (m)
Kb = 0.565 (m)
AEIHE = 0.050 (m)
T Fi s - etk | HE K BT &
ST T As t=20cmPA F_| L= 1.000 X 2 m 2. 000
AT HIFRA T As t=5cm A= 1.000 X  1.000 m?2 1. 000
BRI T +-b V= 1.000 X 0.450 m3 0. 450
PNVAE =[S +-#b V= (0.565 X 1. 000
- 7 /4 X 0.16572) X 1.000 m3 0. 544
MRET p=w Yy V= (0.565 X 1. 000
- 7 /4 X 0.16572) X 1.000 m3 0. 544
HRET JAE+ V= 1.000 X 0.300 m3 0. 300
Asp Ty T As t=15cmAfE | V= 1.000 X 0.05 m3 0. 050
Ay T +w V=" (0.450 + 0.544) - 0.300 m3 0. 694
HAYLAA
TERAET t=10cm m2
PR R
BT t=15cm V=" 1.000 X 1.000 m2 1. 000
. P KL
SIEEIEIH T As t=5cm m2 1. 000




